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goooobooboobboboboboobooboooobbobuobobooboooboboooo
ggboboobooobooboooobooo

O0p0O00 p00000O00O0OOOUOOOUOOOOOODP=p(p)0000C0OO0ODODOOOOO
oobooooobbobob0obuobouobU00p=Kp'OUoooOU pbO00obU0obOobDUObOOOO
000000004 =1000000000000000 (102em™2gnS10em=2) 00000000
gobboobuoooogooboooo

21 0O0O0OOOOOA

goboboobuooboooboobooooobbuoobooboon

« = (p/p)2, (2.1)
DDDDDDDDDDDDDDD(D 1.12)DDDDDDDD
oQ
0 2.2
3t+8x (2.2)
0o0o0o0ooooO0oD FO0DDOOOOODOOOOODOO
p pu
- E = : 2.3
? (PU) (p(a2+u2)) 23)

gobooobbDOpe=mUdoO0oOooooon

ogobooooorbOObObODOO

E:(amm_z), (2.5

P

gogooooooboooboboobboobooboboobbooboobooboobbobooo
gobooobooon

0 (2.1)0
Q) Q)
3t+A8$ (26)
oo0oooooooooooon
aEk 0B, 0Q1 0
Zacgl = Ak, (2.7)
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gogoboobuoooooboboooo

ok,
Ay = —= 2.8
1590, (2.8)
0000 QODO000000000000000000000000

0 1
AkJ = ( 2 m2 2m ) . (2.9)

ot — o =2

P P

googo

a( p 0 1 J P\
at(m)—l_(az—?—; QTm)@x(m)_()’ (2.10)

00000000000 ©¥+482=0000000000

211 0JO0O0O0oO0bOOoO0ObOOoOoooo M

gogboobooobobbbtog¢bbooboobobboboboooboobuobbbbooog

00 ) )
q q _
ot Mo =0, (2.11)

oobooMpbooobooobooobooobuooooooobooo

a( p w op\ 9o [p)\
a(0) (2 ) ()= e

00000000000 $+ MY =0000000000

2.1.2 0J0O0O

0 (210000 (2.12)0000000000000DOOOOOO0DOOOODODOOODOOO
000000000000 00000000000O000O000D0D00O0000Odet(A=AI)=0
0000 ANOODOO0DmMOoOoDAODMODOODOO

Al = u-—a, (2.13)
A2 = u+a, (2.14)

00000000000 000000000000O000O00n0o0oAOgO

xAlz(uia),xAgz(uia), (2.15)
Xpp = ( _pa),xm: ( fa), (2.16)

000000000000 000000000000000 ROODDODOO0OO0O0D0 R'OD0O0DODODO

AOO
1 1 4 ufe L
Ry = S RAT = - PR I (2.17)
u—a u-+a — 5=

oooMDbDOod
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1o
Ry = ( por ) Ryl = ( % Tl ) : (2.18)
0000

00000 RODOODODOORIDOODDOOODOOOOD

oo mMDbOOoOgd

RA7'AR, = A, (2.19)
O

Ry~ "MRy = A, (2.20)
00000000000

A= ( A ) (2.21)

Az

00000000 oooon

A=RsARs™, (2.22)
O

M = Ry ARy ™!, (2.23)
oooooo

2.2 FDS (Flux Difference Splitting) O
000000000000000 (1.82)000

Fipn + 1 e Fi+Fi1 |

Fipp == = S — ) Fioayp = ———— = 5(uj = 4j-1), (2.24)

gogbboooooboooboobbooboobboobooobooboo

E;v1+ E;  Ra|A|RY E; + E;_1  Ra|A|RY
Bt = ]+2 L — 5 A (Qip1— Qi) Ej_yyp =~ 5 I — 5 A(Q;—Qj-1), (2.25)

O 00 OFlux Difference Splitting 0 0O 0O RA|A|RZIDDDDDEj+1/2DDDDDDj—l—l/QD OF;_1/2
000000 -1/2000000000

0000000;4+1/2000000000000000000000 LO0OOOOOOOOOO
0Jdddoodo rROO0OOOOOO

Pave = ~/PLPR>
Uu Uu
VPLUL + /PR B (2.26)

Ugpe =
VPL+ /PR

ooodbooboobbodb0bReedbObbbOOobDOODDDOOnODLODOO OO0 41000
000000000000000000000000000000000 »n+10000000 j41/2
goboooobboooobooooboboboooboboboobobboboobobbobooo
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0000000000000 AtOD000000000000000000000000000000
000000000000000000000000000

000000000000000 »0000000 rho(:)000 w(:)00000At000000
00»+1000000000000000000000p000000 Ree0000000O0DO
Lambda(:)OR(:,;)0L(:;) 0 0000000000000000000000000000,00000
00000 E(:)00000 0000000000 E2(:)0000000000000000csO0

gooooooon

subroutine FDS()
#include "param.h"
#include "dim.h"
#include "var.h"

! Local Variable

real*8 rhop(0:Nx), up(0:Nx), E1(0:Nx), E2(0:Nx)

integer j,n1,n2,k
! Matrix
real*8 Lambda(2),R(2,2),L(2,2),w(2,2)

! Roe Average

do j=0, jm-1
rhop(j)=Sqrt (rho(j)*rho(j+1))

up (j)=(Sqrt(rho(§))*u(j)+Sqrt(rho(j+1))*u(j+1))

* / (Sqrt(rho(j))+Sqrt(rho(j+1)))
end do

rhop (jm)=rhop(jm-1)

up (jm)=up (jm-1)

do j=0, jm-1
Lambda(1)=Abs(up(j)-cs)
Lambda(2)=Abs (up(j)+cs)

R(1,1)= 1d0
R(1,2)= 1d0
R(2,1)= up(j)-cs
R(2,2)= up(jl+cs

L(1,1)= 0.5d0*(up(j)/cs+1d0)
L(1,2)= -0.5/cs
L(2,1)= -0.5d0*(up(j)/cs-1d0)
L(2,2)= 0.5/cs
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2.2.

FDS (Flux Difference Splitting) O

do ni1=1, 2
do n2=1, 2
w(n1,n2)=0.0
do k=1, 2
w(ni,n2)=w(n1,n2)+R(n1,k)*Lambda(k)*L(k,n2)
end do
end do
end do
E1(j)=0.5x(m(j+1)+m(j)
-w(1,1)*(rho(j+1)-rho(j))
-w(1,2)*(@m(§+1)-m(3)))
E2(j)=0.5x(m(j+1)**2/rho(j+1)+m(j)**2/rho(j)
+cs2*(rho(j+1)+rho(j))
-w(2,1)*(rho(j+1)-rho(j))
-w(2,2)*(@(§+1)-m(3)))

end do

do j=1, jm-1

rho(j)=rho(j)-dtdx*(E1(j)-E1(j-1))
m(j)=m(j)-dtdx*(E2(j)-E2(j-1))

end do
rho(0)=rho(1)
m(0)=m(1)
rho(jm)=rho(jm-1)
m(jm)=m(jm-1)

do j=0, jm

u(jl)=m(j)/rho(j)

end do

end

23

0002x200000 wnl,n2) OO ORIA|IR-!ODD0000000D02x2x20do000000
00D00Odo000O0O0ODOOODOOODOODODOODODDOODOODODOODOOODOODOODOO
gooooboobobooogooon

2.2.1

rDsOOoooooo

gooobooooboooboon
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1.5 T T T T T 1.5

RIS i . . i e H £ . T .
0 20 40 60 80 100 0 20 40 60 80 100

O 2.1: Roe O Flux Difference Splitting0 0 0000000000000 O0O00DODOO0ODOOOODOO
O0D000O000OD000D0O0 MUSCLO k=-1000000 00000000 ODOOODOOOO
oooooo

0000000
1, j=1,40
p; = - (2.27)
0.1, j=41,100
u; = 0, j=1,100 (2.28)

O00OAt=02000000 »=0,40,80,12000000¢=10,10,20,30000000000000
O000Az=1000 eAt/Az=0250000
gogboboobdooboooooobobooooon

2.3 MUSCLOOOOOOODOOO

2.3.1 MUSCLUOQO

000000000000 0000000000000000000000 2200000000
Ti1pp<t<24,,00000000«000000

1 3K , A%,
uw(z) = uj + E(w —zj)o;u+ SAL? [(w —x;)" — G ] 6su, (2.29)
good
S;u = M7 (2.30)

83w = ujyr — 2uj + uj_q, (2.31)
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0 22 MUSCLOOOO

0000000000 Az¥/120000000000

Az/2
Ti41/2 3 Az
/] (¢ —2;)%de = = _ o7 (2.32)
zj-1/2 3 _pepz 12
DDDDDDDDDDDDDDDu(w)DDDDDDDDDDDDUjDDDDDDDDDDDDDDD

0000000o0o0o0o00o0ooooj+1/2000000000 j000000000

1 s
(ur)jpryz = wi+58u+ 76,
1 1
= W+ZO—HXW—UFH+ZO+HXWH—UH» (2.33)
0000 j+1000000000
1 s
(UR)]‘+1/2 = Ujp1 — 55]‘+1u + Z(sz_l_lu,
1 1
wjtt = (14 R)(ujrr = uj) = (1= 8)(wj42 = ujt1), (2.34)
00000 «<0000000000000000000000000kKk=—-100000
1
(ur)jprze = uj + 5(uj = uj-1), (2.35)
1
(ur)j172 = wj—1 + 5(wj-1 = uj-2), (2.36)
Oooooooon
1
(ur)jprye = (un)jorpe = wj = j—1 4 5(uj = 2ujm1 + j-2),

12

Ju 1 0%u R
A (0_)+§A{(a_) - (a_)}]
J—1 J

ou Az? [ 0%u
J
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gobooboooooobooboboboboboboobbooboobbobobbo0w,00bbOonoO
00000000000 j-20;-10;00000000000000000 (2nd-order fully upwind)
gobgoobobooboooo

UO00Ox=000000

Ujpl = U Ujo1 — Uy

(wr)jpise = (ur)j—1y2 = wj—uj—1 + 1 - 1 ; (2.38)
= uj; —Uj_1+ Uit1 _QZj—I_uj_l uj_QujZ—ll—l_uj—?’
e (ln) A () o (Ba) an (0
N ¢ oz / ; 2 oz? | 4 oz? | 4 0x2 )’
J J—1 J
2 3
- Ax<?0 —éﬂ(%%) , (2.39)
x/; 4 x i—1/2

0000000000000000000000000 A2000000000000000 (2.38)
goboboooobobobooooboobo y—-20y—-10;0000007+100000D0O0OO0ODO
0000000 (2nd-order upwind biased) D0 OO0O0O0O00O0OO

k=1000000 (2.33)0

w; + u;
(Ur)jp1/2 = _z__§_1t17 (2.40)

gooboobuoobouoooboobbobboobooobo

24 FDSOOOOOOOOO

0220000 FDSOOODOO0OO0O0O0000O000000O0O000000 230000000
MUSCLOOOO0O0O0000O

FDSOO MUSCLODDODOO0O000000000000000
(1)j+1/2000000000 Ree0000000 QpO0 Q0 MUSCLOOOOOO0DOO00 OO
00000 (0 (??7)0(??))05+1/2000000000000000000000

(@u)irje = Qi+ 7 [(1= WAT + (1 +mAT], (2.41)

gobopbboopbobooboobbobo

1
(Qr)jrr/z = Qivr = 7 (1= WAf + (L4 0AT,] (2.42)

0000AY=Q,1—Q;0000A"=Q;-Q, 000000000000 A*0000000
0000000000000 D0000000000000000 A*000000000000
MUSCLOODODOOOOODO000O0D0D000D0000000000000000000000O0
000D000000D0000000000000000000000000
00000000000000000Musdle 000000000

! Muscle
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call Muscle(rho,rhol,rhoR)
call Muscle(u,ul,uR)
do j=0,jm

mR (j)=rhoR(j)*uR(j)

mL (j)=rhoL (j)*uL(j)

end do

O 00 ~1 O Ot

0000000 Muscle(w,wL,wR)OOO0O w(:)0000000000 MuscleO OO 0(Qr)j41/20
0000 wi(:)00(Qr)j41, 00000 wR(:)0000000000000000000000
(2)0000000

Eirge = 5 (Eior + B — RIAR™ Q40 - Q) (2.43)
gd

Birge = 5 (EQn) + E(Qu) ~ RIAMR™ (Qr — Qr)) (2.44)
1DDDDDDDDDDDDDDDDDDDDDDDDDDDD
2 E1(j)=0.5*(mR(j)+mL(j)
3 * -w(1,1)*(rhoR(j)-rhoL{j))
4 * -w(1,2)*(mR(j)-nL(j)))
5 E2(j)=0.5%(mR(j)**2/rhoR(j)+mL(j)**2/rhoL(j)
6 * +cs2x (rhoR(j)+rhol(j))
7 * -w(2,1)*(rhoR(j)-rhoL{(j))
] * -w(2,2)*(mR(j)-mL(j)))

gogboodz210000b0b00bo0oobooboooobboboobooo 2210000000
goboboooboooon

25 0OO00O0OOO

0 (241)00 (242)0 0000000000000 OOOO0OOOOOOOOOUOODOOOOO
gobobooobobooooobooobbuoooboobooobooobboobDoooboooDo
gogbogoboobbobooobobobobuobboboobooobooboboboboobobboobog
gobobooboooodobooboboboboooboobobbooooboobboboooobbobonoo
000000000000 OMUSCLOOODOO0ODOO0O0OODOO0OO00ODOO0OO0OOoOooOoo
000000000000000A*T000000000000000000000000000

A* = B(AY) (2.45)

gogboboogooboooboobboo

0000000000000 ATOD A 0000000000 O0000000000 B=0000O0O
O0ATOD A~ O00000000000O000O0000000000O0

minmod 000 000000000000 (241)0(242)0 AT000 A~ O

7_'_ _ . _l_ —
AT = minmod(AT,bAT), (2.46)
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N _ ot
A7 =minmod(A},bAT), (2.47)
00000000000000000b=32=0000minmod 000

1-x
0, z-y<0
minmod(z,y) =< z, z-y>000 |z|> |y (2.48)
y 2-y>000 [z <yl

gooboobooooon

26 UO0OOOOOO

0000000000000 ooooooooooooooooooooooooood
ogooooooooooooooao

000000000 oooobbooooooooooooooooooooooood
O00000dy/de = f(z,y) O

gt =y (e, ") An (2.49)
"t = 2" 4 Az (2.50)
gobobboooooogooon
A A
ytt o= W+f(ﬂ+~§gw+f@%ﬁ%;)ﬁﬁ (251)
2"t = 2" Ag (2.52)

000000000000000000000
Q"O00Q®' 0000000000000
Q" = Q" + L(QM)AL, (2.53)

oo0ooo0oooooonOon
At
Qn-l-l/? — Qn 1+ L(Qn)77
Q"1 = Q" 4 Q™)AL (2.54)

gooooo
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gogbooobooboobbbbdooboobobuooboobobobobobobbobboobon
000000000000 0o0o00O00LOU00D0UOo0oUOo0O0DUDOOO0OoDOoOOO00Ov=(u,v) 00
gogd
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vl E L I L
0 20 40 60 80 100

O 2.3: Roe O Flux Difference Splitting0 0000000000000 O0O000ODOOOOOOOOOO
0000000000 MUSCLO x=0000000000000000000000000O00O0

P pu pu
Q=1| pu | E=| a®p+pu? |, F= pUY , (2.56)
pv puv c12,0—|—,0v2
0000000 Lax-Wendrof 000000000 0O0A#) 0000000
0Q At?2 [0%Q
= Q4 AL =2 — | = 2.
o= (50) 455 (5 (257
000000000000 0O0O0O0OD AOD BODOOOO
Qt = _AQJU - BQZ/? (258)
oo
Qu = A(AQu), + A(BQ,): + B(AQ.), + B(BQ,),. (2.59)

oooooooooooad
A 2
QU = Q" — AUAQ. + BQy) + - [A(AQu)e + ALBQ) + BAQL), + B(BQ,),),  (260)

0000000000
00000000000000
QY2 = Qr — AtE" (2.61)

n+1 n+1/2 n+1/2
QT = QY — ApptY (2.62)
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00000000000 0000000000000000O000000000O000O0 (2.61)0 (2.62)
goobooo

At?

Q" = Q" = AU(AQs + BQy) + = [A(AQu)s +2B(AQq)y + B(BQy)y] + O(AF),  (2.63)

0(260)000000000000000000000000AD0 BO0O0O0O0O0O0O
AB # BA (2.64)

0000o0o
A(BQy)x # B(AQ:)y (2.65)

goboooboobobobobooobooboob oo ooboobboobbobOooo
gooobooobogo

Q”+”4=:Q”—-%¥E£ (2.66)

Q12 Z gnH/a %F;H/‘* (2.67)

QI Z /2 _ %F;H/? (2.68)

R (2:69)
000000000000 (267)0 (268)0000

Qr3/4 = grt1/a _ AtF;"’lM (2.70)

00000000000000000

000000000000 L, 00000000

Q"' = L' L, L. *Q", (2.71)

0000000000000 000000000000000000000000000000000
0000 Q000000000000 00 L,Y20 Q' 00000000 IY’0o0o0000o0on

e LyLy Ly L, LY2Q", (2.72)
odddooooooooouooooooooao
Qn-l—l — Lxl/GLy1/6L21/3Ly1/6Lx1/3LZ1/6Ly1/3Lx1/6LZ1/3Lx1/6LyI/SLZI/GLxI/GQn, (273)

gooooobooooooon
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2.8 FVS (Flux Vector Splitting)

0000000000000000000000000 Flux Vector Splitting 0 000000 000
00000 (1.81)0000

c—|c c+ |c c—|c c+ |c
Fj+1/2 = %uﬁl—l—%uﬁﬁ}_l/? = 2| |u]‘—|— 2| |u]‘_1, (2.74)

gooboobogo

oo i—1, f
Fiyips = cu;, for ¢>0 iy = cuj_y, for ¢>0 (2.75)
cujyq, for ¢<0 cu;, for e¢<0

0000000000000000
_AEA

2
O0000ATDO AODDOODOODOOODOODOOOOOA-OO0D0O0O0OOO0DOO0DOOO0O0O0O0O0O00
0000000000000000ATO0D0000000 EYO0A- 00000000 E-00000
000000000000t 0000000000O0F- O000000D00000000D000O0
000000000000 OFlux Vector Splitting(FVS:0 OO0 OD0OD0O0O0OOOOOOOOO

AT (2.76)

<8E) B Eiap
J

dx Ax
+ - + -
_ (B +E ) - (B + E]) (2.77)
Az '
00000000000 0000
Et = RATRT'Q, (2.78)
E~ = RATRT'Q, (2.79)

gogoboobooo
FDSOOODOO FVSOODODOOODODOODODOODOOOODOO0ODO0O0ODODOO0O0ODO0O0O0O0OO0
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30 tUouotubbottuod

3.1 OO0OO0Oooboobooood

gobobobobdooboobooobobooboobbuoobboobbobbbbboobboo

3.1.1 00O0dgooo

gogbobobobooboboooooboooobobooboboooboboon

2Q
ot + 89@ =0 (3.1)

000000000 FO0D0O0ODOO0OOODOOOO0

p pu
Q=| pu |, E=| ptpu® |, (3.2)
e (e+pu

gobooobbDOpe=mUdoO0oOooooon

p
Q=1 m |, (3.3)
€
ogobooooorbOObObODOO
m
E=| (o vy sm | (3.9
1—’Vm3_|_ e g

gogooooooboooboboobboobooboboobbooboobooboobbobooo
DDDDDDDDDDD

0@B1)0 P2 +4% =000000000000000
aEk OEy, 0Q 00,
el 3.5
Z 90, 9r = g (3:5)
000000000000000000
Ay = 2Lk (3.6)
SR '
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goboboobuoooobboboooboooo

am am am

Ak,l _ 8(’y—1)e—|—Zﬁj}—’y)m2/2p 8(’y—1)6+zg—'y)m2/2p 8(’y—1)e—|—§3i—’y)m2/2p 7
811—%7;3/202 811—%)23/202 811—W8)T:3/2p2
0 1 0
= -pm B-7Z -1,
(- -y Mmgge qm
0 1 0
= — 320y (3—7)u -1 (3.7)
(%—1)u3—%%u %%—I—%?ﬁ Yu

O00@UO00O00000O00000O00000O0O000LO0OU0LO0DOOOoOUOd gq=(p,u,p)
gooobobobobooobbobbooboooboobooo

P w p 0 P
— +1 0 u 1/p | =] u]|=0 (3.8)
ot u Ox ’

P 0 v wu P

gogoboobuoooboobooooooobooooon

dq oq
5 TMo- =0, (3.9)

ooooMUOODUOUOg¢UOODODODODODUODOO

3.1.2 0000

0(3.2)0 (3.8) 0000000 advection 0000000000 0ODOOOODOODO

aQ! aQ!

8 ! 8 !

Qs 005 _

St =0, (3.10)

gobooboooooobbooboobobbboobooooboobobooboobobooo
gooboobooobooobobobbooboobboo
0@38) 0000000000000 MOUOODODODODOOODOOODOOODODOOOD MOOODOOO
gogd

Mx = Ax, (3.11)

000000000 xOO00O0O AQDOODOOODOOODOOOOCODOOO

det (M — A) =0 (3.12)
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det 0 uwu—AXA 1/p =0 (3.13)

gobbooobooboonoo

(v =) = (u=Nwp/p) = 0,
A—(u—0)][A—u][A—(ut¢)] = 0, (3.14)

000000000000 c=(yp/p)/200000

Al = u-—cg, (3.15)
A2 =, (3.16)
A3 = u+te, (3.17)

(3.18)

gobobooobooo

d={{u,rho,0},{0,u,1/rho},{0,g p,ulr
Simplify[Eigenvalues[d]]/.Sqrt[glSqrt[pl/Sqrtlrhol-> cs

{u, -cs + u, cs + u}

0000000000 000ooU0oo0n () DOO0D0O0OU0O0L00O000LooO0oo0O0 (M)Oooo
0000000000000 (A)000boU0oooooooooo

Mxy = A\ixq, (3.19)
ogoooad
cx1 + pre =0,
cxo + %$3 =0, (3.20)
Ypr2 + caz =0,
oo
p
X1 =| —c (3.21)
pe?
oooooooooooad
p
xz2=| 0 |,x3= c |- (3.22)
0 pc?

gogboboobuoooooboboouobooboobboobooobobo

R =(x1,%X2,x3)=| —¢ 0 ¢ (3.23)
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000000000 R'OD00O0OMOODOO R'ODODOODO ROOODOOO

A 0 0
R'IMR=] 0 X 0 [=A (3.24)
0 0 As
ooon
rROODOOO
R={{rho,rho,rho},{-c,0,c},{rho ¢*2,0,rho c"2}}
2 2
{{rho, rho, rho}, {-c, 0, ¢}, {c¢c rho, 0, ¢ rho}}
Inverse[R]//MatrixForm//TeXForm
0 = L
;) ) 2c 2c21p
R = L (1) _f_/) (3.25)
0 2¢ 22 p
o0oooooooooo
0390000 R'O0D000O0O0O
10q 8(]
R™! R'MRR ' X =0 3.26
ot o (3.26)
00000R'0D00000D00OD0O0D0N0N0OOOODODODOOOONOOOOO
IR ¢ IR ¢
A =0 3.27
ot + Oz ( )
0000000000000 0000b0b0b0b0o0oo0o000o0o0o0obooOobDbooooo0oooon
10q 1904
R 1= 4+ AR! =0 3.28
3t+ oz ( )
DDDAw/At:AiDDDDDR;IA@R;IDR_IDDiDDDDDDDDDDDDDDDDDDDDD
00000000000 0RT =(0,-35,355) = =0, —pc, 1) 0 BT Aq = 55(0- Ap, peAu, 1- Ap)

:;?(Ap—pcAu)D de/dt=vw—c0000000000000000O0O0
000000000000000000 R~Y¢O00OD0D0D000000000 advectionOOOODO
O0D0000000000000 A M =u—cOXN=ull=u+c00000000000000
gogobobdobooobooboboooboooobobboooobobobobobbooobobonoo
goobooboooboobooon
000000000 AOD0ODOODODODDOODODOOODOOODOO

1
Uu

R! = 1—b bou —by (3.30)
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goooooobood

v —1u?
by = —— 31
! 2 2 (3.31)
v—1
by = (3.32)
0ooo
3.2 FDSUO
Qi+ AQ. = 0, (3.33)
00000000000000000R'000000000
R7'Q;+ R7'ARR™'Q, =0, (3.34)
O00DDROODOADA:D00000D0000O0OODO
dR™'Q  OR™'Q
A =0 3.35
ot + ox ( )
0000000000000000000000
i} 1 i} i} i}
(ART'Q)j31/2 = 5 (AMBRT'Q)jur + ARTQ); — IAIRT Q41 - Q))) (3.36)
000 RODODOOO
i} 1 i} i} i}
RART'Qj4172 = 5 (RART' Qs + RART'Q; = RIAIRT Q11 - Q) (3.37)
000000000 )
Eyprge = 5 (Bisa + By = RIARTQj41 - Q) (3.38)

00000000000 OFDST Flux Difference Spilitting0 00 000000000000

OO0 RAIR-1000 j+1/20000000000000FDSO00000ORee000000
0D00000000000000000
000000000000000000000000000000000,;000 4100000
000:0000000000000000000000000000000000;+1/20000
0D000000000000000000000000000000000000000000000
00 ;j+1/2000000000000Ree00000000000000000000000000
0Q, 0000000 Q000000000 Qupe

Pave = \/PLPR> (339)
Ugue = PLUL - pRUR7 (340)
VPL T /PR
prLH v/ pPrH
Have = PLIL - P R7 (341)

NOANT
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j+1

U3l gobboo0bboooboobooboboooobbooboboobbobbooboo ™
00 At000D000DO00DODOO0DO0ODOO0DOOO0DO00O00DOO00ODODOODOOO0bODbODOOO
000000000 j41/2000000000000000000000000 OGonunovd OO
00000000000 y41/2000000000000000000000000O00O000OOCO
gooooobooooon

1
Cive = (7 - 1)(HGU€ - 5“31}6)7 (342)

DHOODDODOO0000000000 H =(etp)/p=1u?/24+~/(y—1)-p/p000000000
O0O0OReedOOOOOOOOOOO

gogoogooo

1)DDDDDDDDDDD 8E/8$:AGQ/8$DDDDDDDDDDDDDDDD

(QrR) — E(Qr) = A(QR,QL)(AR — QL) = Awe(@r — Q)0

Q)A(QR,QL)D AO00O00OO0O0OO0OO0OO0O0OODO0OLO0OOOOOOULODOOOooOOO

3)A4(Q,Q) = A(Q)DD00000000DD

0000 Property UOOOOOOOOOO ReeOOOOOOOOOOOOOO
opoooooooond

m/-\

o~~~

for j:=0 to jm-1 do // Roe Average

begin
rhop[j]:=Sqrt(rho[jl*rho[j+1]1);
up[j]:=(Sqrt(rho[j1)*uljl+Sqrt(rho[j+1])*ulj+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
Hp[j]:=(Sqrt(rho[j1)*H[jl1+Sqrt(rho[j+1]1)*H[j+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
cpljl:=Sqrt(gami*(Hp[jl-upl[jl*upljl/2))

end;

0 =1 S O AW N

Orhop[jl1 000 RoeO D j41/200000000000000000 RORMA,ml 0000000
1R_1DL[1,m]DDDDDw[nl,n2]DR|A|R‘1DDDDDDDDDDDDDDDE[j]DDDDDDD

2‘ for j:=0 to jm-1 do ‘
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begin
Lambda[1] :=Abs(up[jl-cpl[jl);
Lambda[2] :=Abs(up[j1);
Lambda[3] :=Abs (up[jl+cp[jl);

R[1,1]:= 1;

R[1,2]:= 1;

R[1,3]:= 1;

R[2,1]:= up[jl-cpl[jl;
R[2,2]:= upl[jl;

R[2,3]:= upl[jl+cpljl;
R[3,1]:= Hp[jl-up[jl*cp[jl;

R[3,2]:= Sqr(upl[jl)/2;
R[3,3]:= Hp[jl+up[jl*cp[j];
bl:=gami/2*Sqr(up[jl/cplil);
b2:=gam1/Sqr(cpl[jl);
L[1,1]:= 0.5%(b1+up[jl/cp[iD);
L[1,2]:= -0.5%(1/cp[jl+b2*up[jl);
L[1,3]:= 0.5%b2;
L[2,1]:= 1-b1;
L[2,2]:= b2*up[j];
L[2,3]:= -b2;
L[3,1]:= 0.5%(b1-up[jl/cp[iD);
L[3,2]:= 0.5%(1/cp[jl-b2*upl[jl);
L[3,3]:= 0.5%b2;
for nl:=1 to 3 do
begin
for n2:=1 to 3 do
begin
w[ni,n2]:=0.0;
for k:=1 to 3 do
begin
wlni,n2] :=wlni,n2]+R[n1,k]*Lambdalk]*L[k,n2];
end;
end;

end;
E1[j]:=0.5%(m[j+1]+m[j]
-w[1,1]1*(rho[j+1]-rho[j1)
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O 3.2: Roe O Flux Difference Splitting 0 00000000000 O00O0O0OOOOODO

-wl1,2]1*(m[j+1]1-m[j])
-w[1,3]*(e[j+1]1-e[j1));

E2[j]:=0.5%(gami*(e[j+1]+e[j])+gam3/2% (Sqr(m[j+1])/rho[j+1]1+Sqr(m[j]1)/rho[j])
-w[2,1]1*(rho[j+1]-rho[j1)
-wl2,2]*(m[j+1]1-m[j])
-w[2,3]1*(e[j+1]1-e[j1));

E3[j]:=0.5%(gamma* (e[j+1]#m[j+1]/rho[j+1]+e[j1*m[j1/rho[j])

-gam1/2*(Sqr(m[j+1]/rho[j+11)*m[j+11+Sqr (m[j1/rho[j1)*m[j]1)
-w[3,1]1*(rho[j+1]-rho[j1)
-w[3,2]1*(m[j+1]1-m[j])
-w[3,3]1*(e[j+1]1-e[j1));
end;

goobobobooboooboooooooooboonooobboooobo 3200000

for j:=1 to jm-1 do

begin
tho[j]l:=rhol[j]l-nu*x(E1[j1-E1[j-11);
m[j]:=m[j]l-nux(E2[j1-E2[j-1]1);
e[jl:=el[j]l-nux(E3[j]1-E3[j-11);

end;




3.3. FVSO 41

3.3 FVSU

goo

A+ Al
-T2
D0000At0 ADDODOOOOOOOOOOOO0DOA- 0000000000 000000000
00000000000O0O0O000AYOOO0ODODOOO Et0A- 00000000 E-00000
0000000000 00E* 0000000000 0E O0000000000000000000
000000000000 OFlux Vector Splitting(FVS:0 000000000

0ooooon

A (3.43)

<8E) B Eiap
J

Jz Ax
+ - + -
_ (B +E ) - (B + E]) (3.44)
Ax '
00000000000 0000
Et = RATRT'Q, (3.45)
E~ = RATRT'Q, (3.46)

00O00000O0O0O0

00000000000000000 ROR[,n] 0000000 R '0OL[1,m]l00000000
FDSOOOOOO0Owint,n2] 0 RAYR-10000000000000000000 RAYRIQO
Ep[j1 0000000

1

2 for nl:=1 to 3 do

3 begin

4 for n2:=1 to 3 do

5 begin

6 w[n1,n2]:=0.0;

7 for k:=1 to 3 do

8 begin

9 w[ni,n2] :=w[ni,n2]

10 +R[n1,k]*max(0.0,Lambda[k])*L[k,n2];

11 end;

12 end;

13 end;

14 Elp[j]:=wl1,1]*rho[jl+w[1,2]*m[jl+w[1,3]*e[j];

15 E2p[j]l:=wl2,1]*rho[jl+w[2,2]*m[j]+w[2,3]*e[j];

16 E3p[j]:=wl3,1]*rho[jl1+w[3,2]*m[j]1+w[3,3]*e[j];
O0000Owhi,n2] 0 RAR-'00000000000D00000D00O0 RATRT'QOEm[j]100

1|D ooon |

2‘ for nl:=1 to 3 do
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begin
for n2:=1 to 3 do
begin
w[ni,n2]:=0.0;
for k:=1 to 3 do
begin
wlni,n2] :=w[ni,n2]
+R[n1,k]*min(0.0,Lambda[k])*L[k,n2];
end;
end;
end;
Eim[j]:=wl1,1]*rho[jl+w[1,2]*m[jl+w[1,3]*e[j];
E2m[j] :=w[2,1]*rho[jl1+w[2,2]*m[j]1+w[2,3]*e[j];
E3m[j]:=w[3,1]*rho[jl1+w[3,2]*m[j]1+w[3,3]*e[j];

end;

000000000000 Ef(Ep[j])0000000000FE (En(j])000000000000
000000000000000000At0000000000000000000

for j:=1 to jm-1 do

begin
rho[j] :=rho[j]l-nux(Elp[j1+Eim[j+1]1-Elp[j-11-Eim[j]);
m[j] :=m[j] -nu*x(E2p[jl+E2m[j+1]-E2p[j-1]1-E2m[j]1);
el[j] :=elj] -nu*x(E3pl[jl+E3m[j+1]1-E3p[j-1]1-E3m[j]1);

end;

gobobobobdooboooboobboobooobooboobboobbo3s3b0bobon
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0 OA 0O000odod

Al 0OO0OOO

gogbooboooboooobbbioo0 wUboooobbo0 wbboooooobgp b
p 0000000 Db0O0ObO0ODbDDbDOOODO

pP1LUl = PU2, (A'l)
pr(ui +a?) = pa(ul + a®), (A2)
ooooo (A)oo
P21y, (A.3)
P1 U2
000000 (A2)0
a? — (M} 4 1)z + M7 =0, (A.4)
ooO0Ooopoooa
1 a p17 .
oooo
uyuy = a’ (A.6)

gobodoobgoooboboboboboobobooDooobDUbobDUbDoLD v, oo b O
obooogvs=w0ogo

UQ:VS—UQIVS—VS, (A?)
goooopoogoouooodg
Ve A8
Pz—m(;) (A.8)
good
A2 OJ000O0O0O Riemann(d OO
ggoond 9 9 9
op ou op _
ot + p@x + u@x =0, (A.9)
Op00dooon a1 3 a1
np Ju np
ot +8x+u Oz =0, (A.10)
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gooooon

gobbde«bO0OonbDogn

oM oM dlnp
+u +

ot oz " a =0 (4.12)
D000 (A.10)00 (A.12) 000000
dlnp+ M dlnp + M B
o Tto—g—=0, (A.13)
D000 (A10)000 (A12)00000
dlnp — M Olnp-M
T—I—(U—Q)T =0, (A.14)

00000000000C,000 de/dt = u+a000J4 =lnp+MOOOO0OC_000 da/dt = u—a
000J_=lhp-MOODDO000000 /0000000 RiemanOOOOOO0O

A3 0D00000D0DO0OO0OODODOOO

oooOOo0o0obOo00oOoOO00oDOO0DOD00DOO0OooODOOo0oOobD Ccy000DOOJ,0000000C
goobobobboooboobuoooboobobobooobobooboon

Jy=lnp+ M =lnpg, (A.15)
ol pgpobooboooboobbobbobobbooboonbo
po_
— =exp(-M), (A.16)
PH

oboboboob0oboooobobuobobooobooogbuoboooboo ,bp, 000D bO

gogd U
Pz exp (——2) , (A.17)
PH a

000000000 (A70A8) 0000000000000 O0OOOOUOOOOO p,OOBOOODO
gobobooboooooobou pgbbbOoobbO0ob0bOo0obbOoboboobooon

e (2) _ (5] (A15)

a V

000 Vs/ae=£00000O

€2 exp (g . %) - 'IOO—;I, (A.19)

DDDDDDDDDDDDDDDDD’;—f:lODDDDD£:1.75194...Df—%:l.l811...DDDD
gooooo
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gboboboobobooboboobbobbobbbe=100000

PL x> &t
) € (E—t-Dt<a<
p= PH exp(—_/\/l) —t<zx< (5 _ % _ 1)t (A.QO)
PH < —t
0 x> &t
1 _1_
U= i_f - lrer<l (A.21)

- ‘

—t<e<(E—g—1)t
r < -1

o

gobboobbooooooboobboo
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0 UB 00000

B.1 Makefile

000000000000 0O00000DO0O000000D00 MakefleDOOODODOODOO
goobooooo

2lmake OO0 OO

O00OmakeJ OO0 OO0OO0O0O0DOO0O0O0OOODOODDOOOO0O0OODOOOODOODOOD MO
oooogobobobooboboobobobo0booo0o0oD0oo00oD0o0UubD main FOinitia FO
FDS.FOFDS2FOMuscle. FOOODOODOOOOODODOOOODOOODODODOOOOOODODODOOOODO

B.1.1 0000 MakefileOODODOO

good

200000 boobdo10boo0ob 2 OooboOoOoo s
3|<-- 00 --»>00000000000000b0000b00OO0

goobooboooobooogo

2 |main.o: main.F var.h

O0000Omain.FOOODDOODODOOOOOD FoctranODOODOOOOoDLOOOOooobo.FOOO
000000000000 0O00o0U0oO0oD Cco0obOUoOoOoD (CpP)D0O0OOODO Fortran
000000000000 0O#include0 000 CPPOODODOOOOODOODOOOODOOD.FOODO
O00dvarhOO0OO0O0OD0OO000O0000OvarhOOOOO0OD0O0OmainFOODOO0OOO

goboooooooobogoon

21<-- OO0 -->$(F77) $(CFLAGS) -c -o main.o main.F

O0000Omaino00000000000000000O0O0O0OO0O0O0OS(F77)OS$(CFLAGS)OO

goboboobooobooboooboooboon
0000000000000 000000000D0O000glbFDS.aO0000D0O0OO00OO0O0OODO

gobobooooboobooo
gogoooooboogooobogo

1
|
Q‘FDS: main.o 1ibFDS.a
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<-- 00O -->$(F77) $(LFLAGS) -o FDS main.o -L. -1FDS

Omaino0O0000FDSODODOOODOOOOOOOODOOODOOO-IFDSODOO libFDS.a0 OO

gogboboobuoooogoooood

Makefile O O

#!/bin/sh

#

F77 = £77
CFLAGS = -u
LFLAGS =

#

all: FDS
./FDS

main.o: main.F var.h

$(F77) $(CFLAGS) -c -0 main.o main.F

#

initia.o: initia.F param.h dim.h var.h
$(F77) $(CFLAGS) -c -o initia.o initia.F
#

FDS.o: FDS.F param.h dim.h var.h

$(F77) $(CFLAGS) -c -o FDS.o FDS.F

#

FDS2.o0: FDS2.F param.h dim.h var.h
$(F77) $(CFLAGS) -c -o FDS2.o FDS2.F

#

Muscle.o: Muscle.F param.h

$(F77) $(CFLAGS) -c -o Muscle.o Muscle.F
#

output.o: output.F param.h dim.h var.h
$(F77) $(CFLAGS) -c -o output.o output.F
#

1ibFDS.a: initia.o output.o FDS.o FDS2.o0 Muscle.o
ar ru 1ibFDS.a initia.o output.o FDS.o FDS2.0 Muscle.o
#

FDS: main.o 1ibFDS.a

$(F77) $(LFLAGS) -o FDS main.o -L. -1FDS
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B.2 Gnuplot

0000000000000 0000000D000D0000 GnuplotODOOOODODO

B.2.1 OO0OO0OOOO

good

do j=0,Nx
write(*,’(2(3x,£10.3))’) j,rho(j),u(j)
end do

write(*,%*)

gogbooobbooooooooobobbobobbobooobbbboooobbbbooobo
goooboobobobooobobbooooooobooboobooobooboooooooo
gobbooboobobobooboooooobobobobobobobooboobobooooon

B.2.2 00000

0000000000 gnuplot 000000000 ODODODOOO

GNUPLOT
Unix version 3.7
patchlevel 1 (+1.1.9 1999/11/08)
last modified Fri Oct 22 18:00:00 BST 1999
good
Terminal type set to ’x11°
gnuplot>

O00Ognuplo>00000000000000wwind.dOODOOODOOOOOO

gnuplot> plot "upwind.d" with linespoints

ggboobobdoobbooobooooooboobooboobbuoooboboon

gnuplot> set terminal postscript

Terminal type set to ’postscript’

Options are ’landscape noenhanced monochrome dashed defaultplex "Helvetica-Ryumin"
gnuplot> set output "upwind.ps"

gnuplot> replot

0000000 CuwwindpsDOOODOOODODOOODODOODOOODO

142
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gnuplot> !lpr -Plpnl upwind.ps

good

% lpr -Plpnl upwind.ps

gogogboboboooooooooooobooooo

good

gobobooogobobod

O00000000O0ooOo (199 000oo0ooooooo

00000 CFD —0000000 —00(199)0000000oo
0000000000000 (1992) 0000000000 ODDOOOOOOO
000000000 (19%9) 0000000000000 ooooooO
O0000o00oo0o0ooo(vr)oboooooUooUooo,00o000
0000000 (1999 0000000000000

goobooo

Roe, P. L.: Approximate Riemann Solvers, Parameter Vectors, and Difference Schemes, (1985) JCP,
43, 357.

Roe, P. L.: A Survey of Upwind Differencing Techniques (1989) Lecture Notes in Physics, 323, 69.

van Leer, B.: Flux-Vector Splitting for Euler Equations (1982) Lecture Notes in Physics, 170, 507.

gobobbooobobouooooobooboo

0000000 ((1972)0o0o0oooon

O0o0ooOo(Yr)0ooooLoo00o0oU00oo0o000o0o0oULO0O ;0000 (D00 0=0000
ooooooon)

00000000 (199900000000000 OO

goboboooobobboooon

http://nova.earth.s.kobe-u.ac.jp/shocktube/index-j.html: JavaO OO0 1 0000000000000
godooobo:- o000 obobbo

http://grape.c.u-tokyo.ac.jp/~hachisu/java.shtml: 1-D Numerical simulation by Java: 00 00O OO
gogogdao

http://www.camk.edu.pl/~tomek /htmls/num_meth.html: Numerical methods for Fortran Program-

mers: Tomasz Plewa ( Nicolaus Copernicus Astronomical Center, Polish Academy of Sciences

)
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http://grape.c.u-tokyo.ac.jp/~hachisu/lecture/hydro/hydro.shtml: 00 0000000000000
0 (00000bO00 )00 000DO0O0oooO



